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CHP 2 :  PQOO
Exercice : 5

cl ass personne:
def __init__(self, nom prenom tel, adresse):
sel f. nom = nom
sel f. prenom = prenom
self.tel = tel
sel f.adresse = adresse

def __str__ (self):
# str(p); print(p) => print(str(p))
# p.__str__()
# Presonne. __str__(p)
ch ="Nom: {}, prénom{}"
return ch.fornat(sel f.nom self.prenon

def afficher(self): # p.afficher()
ch ="Nom: {}, prénom{}"
print(ch.format(self.nom self.prenom)

class Travaill eur(personne):

def __init__(self, n, p, t, adr,ne,adrE tE):
super().__init__(n, p, t, adr)
sel f.nonE = ne
self.adrE = adrE
self.tE = tE

def __str__ (self):
return personne. __str_ (self) + " en: {}"\
.format (sel f.nonE)

class Scientifique(Travailleur):
def __init__(self,n, p, t, adr,ne,adrE tEts,ds):
Travailleur.__init__(self, n, p, t, adr,ne,adrEtE)
self.ts = ts
assert type(ds) in (tuple, list)
self.ds = ds # |ist

def __str__(self):
ch = super().__str__()

ch += " /ts : "+self.ts
ch +=", ds:"+ "-".join(list(self.ds))
return ch

t = Travailleur("n", "p","t","adr","nE", "adE", "t E")

print(t) # print(str(t))

s = Scientifique("n", "p","t","adr","ng", "ade","tE", \
"exper",["info","chime"])

print(s)



